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g8 | (U7 &R | (U7

IBGL |K 4 REYS7 40| BE | FHNE| 3992 |39V |17V | BF | FNE| 92 [4-7V |47V
1 |Al 2 1IZD5H 362 | 50 50 37 50 50 50 50 25
2 | BF |I2D5H 262 | 50 50 37 25 50 25 25
3 ¥ BF 21)— 162 50 37 50 25
4 |BHH V&H  |butterfly effect 137 | 25 25 25 37 25

5 @l BF [I2D5H 112 | 25 37 25 25
6 |FkEH BF == 99 25 37 37

1 |88 ¥F |YT1C 75 25 25 25

8 |HhH BF == 74 37 37

9 [ME B S8y 62 25 37
10 |88 Z92 |IBLEEKER 50 50

10 [FRXF =F [TCKEH 50 50
10 (8@ #F [TCKEH 50 50
10 BRIl ¥ 1B EEKER 50 50

14 |AR #BF 21)— 37 37

14 }E@ E  |[HE8I)-Y 37 37
14 |RIAF ZF 2)— 37 37

14 |FHFH F e & 37 37

14 |#HHE BT M2 Emn 37 37

19 | K# fkx [BEJ57)—> 25 25

19 |B ST SOF 25 25

19 By HEEF [JU— 25 25

19 8% EF [JU— 25 25

19 | KK #itk 2)— 25 25

19 [&5F #F [BUNBUN 25 25

19 [Ad ®F  [TIL—A2/LATT 25 25

19 (AR #8F [TIL—A2/LATT 25 25

19 (g TEF [IU— 25 25

19 (g FR[BESF— 25 25

19 =B RB= 21)— 25 25

19 IR FEF [ICD5H 25 25

19 |#H BF 21)— 25 25




